
Whats in the Gift A' ( )
What number is in each gift?

47 + 91 = 45 + 14 = 65 + 35 =

62 + 89 = 35 + 84 = 50 + 68 =

26 + 99 = 17 + 19 = 11 + 46 =

10 + 53 = 27 + 52 = 61 + 88 =

60 + 12 = 69 + 30 = 77 + 41 =

86 + = 115 68 + = 97 54 + = 153

99 + = 113 75 + = 152 18 + = 91

21 + = 89 91 + = 189 38 + = 98

70 + = 136 93 + = 122 89 + = 126

14 + = 38 76 + = 172 70 + = 125

+ 59 = 130 + 92 = 163 + 29 = 85

+ 43 = 103 + 62 = 150 + 57 = 117

+ 96 = 193 + 52 = 123 + 45 = 100

+ 35 = 59 + 62 = 102 + 50 = 125

+ 52 = 81 + 48 = 80 + 57 = 90

Merry Christmas from Math-Drills.com!



Whats in the Gift A  Answers' ( )
What number is in each gift?

47 + 91 = 138 45 + 14 = 59 65 + 35 = 100

62 + 89 = 151 35 + 84 = 119 50 + 68 = 118

26 + 99 = 125 17 + 19 = 36 11 + 46 = 57

10 + 53 = 63 27 + 52 = 79 61 + 88 = 149

60 + 12 = 72 69 + 30 = 99 77 + 41 = 118

86 + 29 = 115 68 + 29 = 97 54 + 99 = 153

99 + 14 = 113 75 + 77 = 152 18 + 73 = 91

21 + 68 = 89 91 + 98 = 189 38 + 60 = 98

70 + 66 = 136 93 + 29 = 122 89 + 37 = 126

14 + 24 = 38 76 + 96 = 172 70 + 55 = 125

71 + 59 = 130 71 + 92 = 163 56 + 29 = 85

60 + 43 = 103 88 + 62 = 150 60 + 57 = 117

97 + 96 = 193 71 + 52 = 123 55 + 45 = 100

24 + 35 = 59 40 + 62 = 102 75 + 50 = 125

29 + 52 = 81 32 + 48 = 80 33 + 57 = 90

Merry Christmas from Math-Drills.com!


